Name: Section:

MA 109 Spring 2014
Exam 1 February 12, 2014
|| Directions:

¢ Do not remove this page—-you will turn in the entire exam. You have two hours to do this exam. No
books or notes may be used. You may use a graphing calculator during the exam, but NO calculator
with a Computer Algebra System (CAS) or a QWERTY keyboard is permitted. Absolutely no cell
phone use during the exam is allowed.

s The exam cousists of multiple choice and short answer questions. Record your answers on this page
by filling in the appropriate selection, for example:

HEEOO®

s The exam is out of 100 total points: 5 points for each of 20 questions. Only this front page will be
graded and no partial credit will be awarded. It is recommended that you check your work!
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For grading use:
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Name: ) . Section:

[I\!Iultiple Choice: Show your work in the space below and shade the correct answer on the front page for each of the following.J

1. Solve the following equation for .
3z? -5z =1

g}(%—nﬁ‘x‘—/ o

Choices: |
@ = L (-s) [ sy =4(356¢1)
@ =F g 2 (3)

@ 2T —

(d)  There sre no real solutions. - G # {2 5 i -

@ =T —

9 Which one of the following points is on the graph of the equation

@ — 2ty =57

(6,5) =2 @--(91[57)3 o EDH

Choices: (f Q/} — f méi}L{féf}-z jd_,',:{ff.: -
(@ (0.5) ! s Y
(b) (114) [’" /":/ ﬂlﬂj —3 ‘""'f = {"’!} C....éj ~- ? e = )

¢}y {(-1,-6) . . BRI 2’{6/’: )b £ 5
C((Z? (—1,6) é.“’ z; é",j -3 ( .}l ' |
© (-1 (=2,-0 2 -2-(a) (=0 7oLt Y= 2 #5
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3. Solve the following equation for s.

8(3—s) =16
Choices: a ‘&
(a) £V5 L2
() VB <3 -5 ) = Z —
(@ V2 R S
d)  The equation can not be solved for s.
3+£V2 KRN oud
4. Solve the following equation for . ) < 2
(Voz = 1>=@~ _2 )
z .
Choices: 2% - = X - Z,'/X' " ‘;
(a)  The equation has no solutions. £ =
() =z =1only '
(¢ =z=1landz=5. = %

@ x =5 only.

(&) z=-3andz=2

1,?'2(&‘3"? 2 &~ Z

Wes Vo (-3 = -3 & ,;s?gfuz"?'ﬁm

5. Solve the following equation for . P15 =0 SQV@ /f_)i”éf) doc o+ /ﬂm ﬂ@ . ,L ?,
Choices: b4 e X Ef‘ s =@
{(a)  The equation has no solutions. X= o X - 3. s
(b)  x==0only. : - .
z = ¥=5 only.
c=0sand 5= =5 -
T == d:\a/g only.




6. Find the value of % that makes the following expression a perfect square.

Choices:
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7. Solve the following equation for .

lx 45| =2

,;f!fi’fizfcm L ?ZFB’M
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2

(-31= 1

: . & K e -5
e ool =2
Choices: B 2 i Zoaf
Y} z=-3endz=-T - F—t t! —
(b) «=-3only . e -2
(¢} x=3only / 3
(d) z=Tonly
(e) =z=-1only
8. Find the distance between the points (—2,1) and (3, -3).
[
Choices: -, z , .
e {i-C3
V5 c{ = V Q‘ 2 -t + (! 3 J
. .. e
5 - ;e - 25
S L2 2 g 16
=5 (-3 )5+ T
25
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9. Find the exact value of . e .
VZ-3|. Nz.-3 < ©
Choices:

-
VZ+3. 5°
3-v2
1.5858
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10. Find k so that the following equation has only one solution.

2 3z+k=0
br-Hal = @

Choices: : . -
o (-2)°- g()(k) = ©
9 e e
(@) ;Z; Cf A ° )

3 ped -
@ 3 i 4
ey O

11. Find the equation of a circle with center (5,1) such that the point (5,7) is on the circle.
Choices:

— ’~n - £ .,__-77}2-
(8) (@+2P+W+7=4 y= J&S 5y % (7
b) (=-5°+y—-1)*=6 = iﬁ & Y65 = [36 7

© (=-22+E-7°=
(d) (z+5)2+ (y+1)* =49

@ (@-3)>+(y—17=36 (':é(?fﬁj 1‘?‘"(?}" 1) 6
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12. How many distinct real solutions does the equation z° — 2 4 dr — 4 =0 have?

Choices:

(2)
@&

| (¢)  Four real solutions. . @
(d)  Three real solutions. XE’% 2O - =
(e)  No real solutions. P )

y Alx=1)+ £ k- ()= ©

Two real solutions.

One real solution.

k2ot M=) = °
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13. Find the x and y-intercepts of the graph of h? it Ke O g
kY
z+y'—4=0 yr-¢ =0 g-»&'f“?’ﬁb
g~ *Z x=4
Choices:
(a)  The z intercepts are z = 2 and z = —2 and the y intercept is y = 4.
The z intercept is © = 4 and the y intercept s y = 2.

(b)

The z intercept is # = 4 and there are no y intercepts.
The z intercept is = = 4 and the y intercepts are y = 2, and y = —2.

The 2 intercept is £ = —4 and the y intercepts are ¢y =2, and y = —2.

14. Which oue of the following statements is not true?

Choices:

o= #K @ b

V2 = 2 for all real numbers .

(b) |z —y| = |y — z for all real numbers z and y.

(c)  a has two square roots for all real numbers a > 0.
(d)  |a! can never be negative for all real numbers a.
(e) Va2 = |al for all real numbers a.

15. Which cne of the equations represents the statement that the distance from —2 to a number z on the
number line is 77

Choices: ; e
(a)‘ lz —7| =2 ( X le-»‘)i 7
®) [al=2 e+2tz 7]
(¢) |e—2=7

|z +2)=7

(&) |7-2==




l Short Answer: Show your work below and place the appropriate answer on front page for each of the following.

16. Solve the equation for #. Inchide all solutions in your answer on the front of the exam.
1 3 -2
~ Xt+3 _ =
1.2 0= Q{"H){ y 211 @ lc+3) =z+3 )

N S A 3
k) e 2 ) ~( ,F.%q\ (xw)C?‘“
(et X1 (el (XT3 “‘KK.;»_.

- 2 (xri)

X4+ 3 + 3 -
9‘:,#6‘: gx a4 L
§ = X

17. Find the center of the circle
2~ 2 +y* + 6y —10=0.

-2 =i ¢oxl o tyreg 9 = (0417 I
r_i, ) / 77

ko .
Q"M = | ) | P

C)(__g |+ (fa =-f-—3) =
-%: =~ 3
gy = >
(3};:{21! &,f’,éf;{(fé = () )
18. Solve the eguation for R. . , / o D: g’{’\/ .




L= vt

16. Find all real solutions to the equation z% — 5z? +4 = 0.

=

, Wr-sw r4 = °
L x

(o)) = e

{i_':"'?_%é Ll =~}
. Lo
x* o= ¢ ~
3 = =
Y= - ;

20. Solve for s.

é‘C%ﬁ}HLSJ

g-2s = 85
05 = 77
5=

=7




